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Question Bank For BDP Course
&ffz® “l15& ( Elective Course )

3ifde7 ( Commerce )

P 2q ( 5th Paper )
Cost Accountancy & Element of Income Tax : ECO-05

The physical count of inventory for its valuation is undertaken at the end of period is
TGS TG TR Hafowf F F 2

The level of material at which a new order for materials is to be placed is..............
TGO (I B L G 0 (s 27 2

The most common method of inventory valuation is..............
(T AR SCS TGO eI FAI 2 2

The Cost unit “litre” is used in..............

37T @ IR (FIRT IR I 2T 2

Bin card shows..............

41 FICE T (721 27 2

Contract costing is useful in..............
pie 1 (PII I792 2T 2

Cost of production is equal to..............
Cost of production I

Cost sheet is prepared..............
AT ifereT T2 CoR1 T4 2 2

Calculate the Economic Order Quantity (EOQ): Annual consumption-800 units, Cost of
placing an order-Rs.100, Carrying cost of inventory-Rs.4.
EOQ FeIX el 31 27 72 T THATSI - 800 TG, T &S 5% 19 3 100 G,

Inventory -3 Carrying cost 4 GI%T 2

Labour turnover is calculated by..............
AN SRS o FRIF 2Mafowfe] I T2

Different sources of information of overhead are..............

TR 28T T ST fer Fi o

EBQ stands for what ?
EBQ 317

Departmentalization of overhead is known as..............

Teifzarcas Reree effes §1 2

Direct expenses are also called as..............
Ao LT6 F1 2

Basic objectives of cost accounting is..............
AR AR *Pael- a3 2R Sl $F 2
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In Income Tax Act, 1961, income is divided in Heads?
TFT S FNIT Lo FT 12

The Income Tax Act, 1961 came into force w.e.f...............
SRS 3, 1961 P ©F AR 2

Assessment year can be a period of ..............
37 [eifRel 929 MR 209 2M1CH 2

A person includes..............
& I R (IRAT 2

Income Tax is charged in ..............
(RPI AR SRS (e 11 2 2

Kolkata Municipal Corporation falls under the category of person..............
ForeTel NSHRE SN e ............ AR SO AT

Income of business commenced on 1st March, 2019 will be assessed in assessment

I 01/01/19 @ ©F 30 OF FIIT &oF (F 7% FF LR 3@ ?

Basic conditions for Residential status has been defined in..............
SR TR CHCG (FI (T *S 2[0 FACS 27 2

Additional surcharge (health and education cess) is payable on..............
ARG @ Sfsfae ATEIe (health and education cess) FISII 41 2 2

An employee is in receipt of hostel allowance for his three children, the maximum
allowance per year will be exempted under section 10(14) is..............
GG PAGINT 3 & 2@/ TR =T 10(14) SPTE O Hostel Allowance-@ A% RITGT

AT 9 2

In Income Tax Act, “Person” has been defined in..............
<P \‘Nla(.hl '<JI(\@°' FICP qCeT ?

Maximum exempted limit in Leave Salary and Gratuity u/s 10(10AA)
Leave salary € Gratuity 3 [u/s 10(10AA)] AR5 RICTT AR F© 2

What is the Maximum limit of deduction u/s 80C?
80C YR ACTH ZICLR Aot F1 2

Under the head salary, Professional Tax is deducted..............
(P 4191 Professional Tax 1Y (W8I 2¥ ?

Interest on House Building Loan is deducted under which section?
RIS ey O Bof I TR RICS ARSI (P14 SISO 910G 2



